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A1=116.0
A2=22.11
A3=0.79=t
A6=2045.0
A7=48.51
∆=1.324

A1=79.87
A2=16.94
A3=0.77=t
A6=1042.0
A7=39.38
∆=0.099



UG240−7R

UG240−1A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=630cd/m2
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x=logL

04 0,1s A 630cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=141.1
A2=149.6
A3=0.82=t
A6=17310.0
A7=448.2
∆=0.495

UG240−2A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=630cd/m2
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x=logL

02 0,1s Y 630cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=147.2
A2=106.8
A3=0.75=t
A6=11900.0
A7=480.7
∆=0.775

UG240−3A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=630cd/m2
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x=logL

02 0,1s B 630cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=66.74
A2=85.0
A3=0.88=t
A6=5001.0
A7=154.39
∆=0.001

UG240−4A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=630cd/m2
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x=logL

02 0,1s R 630cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=85.07
A2=64.28
A3=0.9=t
A6=4955.0
A7=98.87
∆=0.027

UG240−5A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=630cd/m2
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x=logL

AD 0,1s G 630cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=76.55
A2=81.83
A3=0.73=t
A6=4631.0
A7=387.0
∆=0.009

UG240−6A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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x=logL

04 0,1s A 63cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=116.0
A2=22.11
A3=0.79=t
A6=2045.0
A7=48.51
∆=1.324

UG240−7A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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x=logL

02 0,1s Y 63cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=101.8
A2=29.72
A3=0.9=t
A6=2736.0
A7=42.65
∆=2.231

UG240−8A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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x=logL

02 0,1s B 63cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=52.09
A2=10.07
A3=0.74=t
A6=389.9
A7=22.37
∆=0.032

UG241−1A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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x=logL

02 0,1s R 63cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=61.88
A2=9.72
A3=0.82=t
A6=493.9
A7=15.99
∆=0.249

UG241−2A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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x=logL

AD 0,1s G 63cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=79.87
A2=16.94
A3=0.77=t
A6=1042.0
A7=39.38
∆=0.099

UG241−3A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2

−3 −2 −1   0   1   2
  0

20

40

60

80

x=logL

04 0,1s A 6,3cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=96.74
A2=3.85
A3=0.59=t
A6=221.1
A7=9.71
∆=4.66

UG241−4A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

02 0,1s Y 6,3cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=73.94
A2=3.91
A3=0.68=t
A6=199.0
A7=7.26
∆=2.226

UG241−5A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

02 0,1s B 6,3cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=49.15
A2=2.42
A3=0.73=t
A6=87.0
A7=3.36
∆=0.481

UG241−6A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

02 0,1s R 6,3cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=80.36
A2=3.85
A3=0.66=t
A6=206.2
A7=7.61
∆=5.889

UG241−7A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

AD 0,1s G 6,3cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=67.58
A2=3.41
A3=0.69=t
A6=159.7
A7=5.9
∆=1.367

UG241−8A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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x=logL

04 0,1s A&G 63cd/m2; hyp3
T*  = A1·Lt / (Lt+A2)
A1=116.0
A2=22.11
A3=0.79=t
A6=2045.0
A7=48.51
∆=1.324

A1=79.87
A2=16.94
A3=0.77=t
A6=1042.0
A7=39.38
∆=0.099


